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QUESTION 1

Select the word that is most nearly the same in meaning as the word in capital letters. FLINCH
A. leap

B. roar

C. dodge

D. wince

Correct Answer: D

QUESTION 2

Select the word that best completes the sentence.

Emily Dickinson\\'s short poems manage to clearly profound ideas in very few lines.
A. convey

B. spell

C. muddle

D. renounce

Correct Answer: A

QUESTION 3

What is the value of the numerical expression (1.5 x 103) x (2.0 x 106)?

0.5 = 10°
3.5 = 10°
3.0 = 10°
3.4 = 10"

9 Q| e

A. Option A
B. Option B
C. Option C

D. Option D
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Correct Answer: C

QUESTION 4

Select the word that is most nearly the same in meaning as the word in capital letters. HOOKED
A. complicated

B. captivated

C. surrounded

D. abusive

Correct Answer: B

QUESTION 5

The author states that apples are made of chemicals in order to make the point that:

A. apples are a much more dangerous food than people generally understand.

B. it\'s not actually important to wash apples before eating them, because apple chemicals are safe.

C. synthetic apples can easily be produced using modern chemistry.

D. the way that we use the word "chemicals" suggests that we don\\'t always recognize chemicals in nature.

Correct Answer: D

QUESTION 6

1

4~

2

3 1
2

Tori cut pieces of ribbon to use for decoration. 1 piece of ribbon was inches long, 2 pieces of ribbon were 2 inches long,
and 1 piece of ribbon was inches long. What was the mean length of the pieces of ribbon?
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A

i
2 = inches
3 inches
C. : e
3 —inches
2
D. I
3 =inches
4
A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: B

QUESTION 7

Select the word that is most nearly the same in meaning as the word in capital letters.
EXTERIOR

A. protected

B. outside

C. relevant

D. mysterious

Correct Answer: B

QUESTION 8

Select the word that is most nearly the same in meaning as the word in capital letters.
PURSUE

A. browse

B. escape

C. chase
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D. discover

Correct Answer: C

QUESTION 9
The volume of a cube is 27 cm3.

What is the surface area of the cube?

9 cm?
27T cm?
36 cm®

54 cm®

oo mp

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: D

QUESTION 10

In the passage below, businessman and philanthropist Andrew Carnegie describes an interaction with business
partners, which would influence their future relationship.
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1 The sale of the bonds had not gone very 21 your credit, and the additional ten makes
2 far when the panic of 1873 was upon us. One of 22 seventy."
32 the sources of revenue which [ then had was 23 The payments were in two checks, one
4 Mr. Pierpont Morgan. He said tome one day: 24 for sixty thousand dollars and the other for the
5 "My father has cabled to ask whether you 25 additional ten thousand. | handed him back the
6 wish to sell out your interest in that ideayou 26 ten-thousand-dollar check, saying:
7 gave him." 27 "Well, that is something worthy of you.
8 I said: "Yes, I do. In these days | will sell 28 Will you please accept these ten thousand with
9 anything for money." 29 my best wishes?"

10 "Well," he said, "what would you take?” 30 "No, thank you," he said, "l cannot do

11 I said | believed that a statement recently 31 that."

12 rendered to me showed that there were 32 Such acts, showing a nice sense of

13 already fifty thousand dollars to my credit, and 23 honorable understanding as against mere legal
14 1would take sixty thousand. Next morning 34 rights, are not so uncommon in business as the
15 when | called Mr. Morgan handed me checks 35 uninitiated might believe And, after that, it is
16 for seventy thousand dollars. 36 not to be wondered at if I determined that so
17 "Mr. Carnegie," he said, "you were 37 far as lay in my power neither Morgan, father
18 mistaken. You sold out for ten thousand dollars 28 or son, nor their house, should suffer through

-
o

less than the stat=ment showed to your credit. 39
It now shows not fifty but sixty thousand to

me. They had in me henceforth a firm friend.

B
=

The main purpose of the passage is to:

A. describe the business of investing to the uninitiated.

B. relate a story about the integrity of a business partner.

C. tell a story about a bad investment decision.

D. show how the narrator became a successful businessman.

Correct Answer: B

QUESTION 11

The quotation in the last paragraph supports the claim that:
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1 Wind tunnel testing of a feathered 16 the creature was probably able to climb high
2 dinosaur model has added evidence to the 17 enough to glide around 100 meters, the
3 theory that modern day birds evolved from 18 scientists say.
4 ancient reptiles. Scientists at the University of 19 Some scientists had wondered if the
5 Southampton in England built a full-scale, 20 position and orientation of the Microraptor’s
6 anatomically correct model of a Microraptor,a 21 legs and wing shape could have impeded
7 five-winged creature that lived in the early 22 possible flight, but the testing revealed it not to
8 Cretaceous period about 130 million years ago. 23 be a factor. According to the paper, published
9 The dinosaur is believed to be a precursorto 24  in Nature Communications, "Microraptor did
10 birds and the first two-footed dinosaur to have 25 not require a sophisticated, 'modern’ wing
11 feathers on its body, which could have 26 shape to undertake effective glides. Symmetric
12 provided lift during brief gliding or flight. 27 feathers first evolved in dinosaurs for non-
13 The wind tunnel tests revealed thatthe 28 aerodynamic functions, later being adapted to
14 Microraptor was a good glider, but likely spent 29 form lifting surfaces.”
15 most of its time foraging on the ground. Still,

A. the Microraptor\\'s wing shape did not prevent it from gliding successfully.
B. the Microraptor\\'s wings -unlike the modern-day bird -were completely featherless.

C. designers of contemporary aircraft should imitate the wing shape of the Microraptor because it is very effective for
flight.

D. the feathers on the Microraptor\\'s wings served no purpose other than decoration.

Correct Answer: A

QUESTION 12

Select the word that is most nearly the same in meaning as the word in capital letters.
GLOSS

A. soap

B. illness

C. luster

D. shell

Correct Answer: C

QUESTION 13
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1/4 of which expression is greatest?
A.A-1

B. A

C. A+3

D. A/3+1

Correct Answer: C

QUESTION 14

Augustus owns an analog clock. It takes twelve hours for the clock\\'s hour hand to make one complete revolution
around the clock\\'s face. When Augustus first looked at the clock, it was 5:00 pm. The next time he looked at the clock,
it was

6:30 pm.

How many degrees did the clock\\'s hour hand travel during this time?

A. 30

B. 45

C. 60

D. 90

Correct Answer: B

QUESTION 15

In Figure 1, the perimeter of the two congruent trapezoids is 48.
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X
y y
y y
X
Figure 1
Color Probability
Blue 3 /10
Red 1 /5
Green 3 /1 0
Purple 1 /5

If x =12 cm, then what is the length of y?
A .24
B. 12

C.8
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D.6

Correct Answer: D
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